Un 2 35E500A-3 s=1/10

125 500 125 60
o
o
™
KR & 7} . T
: \
N

o
8
S HEJLYIL
P — I HBERA
[ s
=
|5o| 705 |5o|
(10m®HrtY)
% |38 BB % g | i3
el & |PU3-500A N 5.0
-+ E PC4-500 m o [17.8
JL—FU5E " 2.0
Un" #1372 500A-3 #®  |10.0
BELAI 1 . 3 m3 [0.14
X B B & |RC-40 m3 0. 81
iE i m3
pi::} = m?
R ¥ L m 2
B O+ o = m 3

Un” #1358 500A-4 S=1/10

125 500 125 60
o
o
<r
KimER [ ]
o
2
S BEJLAIL
Q— I HEEERA
7773757
=
|50| 705 |5o|
(10m&Ht=Y)
% | BB & e | C:3
i # |PU3-500A & |50
-+ E PC4-500 w [17.8
SL—F U5 E ® 2.0
Un* #1338 500A-4 #®  [10.0
BELAIL 1 . 3 m3 |0.14
E B OB & |RC-40 m3 0,81
1B A m3
1 R m?®
R # L m 2
B O+t o ® m?

Un” £)3F8500A-5 s=1/10

125 500 125 60
o
o
[}
K ik = 7} . ]
2 \
o~N

o
S
S BEJLAIL
S I HEBERA
S 777577557757755775
=
|5o| 705 |5o|
(10m®Ht=Y)
% | BB &% g | 3
481 & |PU3-500A X 5.0
Wh-+ & PC4-500 m o [17.8
JL—F U5 E ® 2.0
Un" #1358 500A-5 # [10.0
BEILAIL 1 3 mé |0.14
X B OB & [RC-40 m3 0. 81
1B i m?3
2 R m?
R ¥ L m 2
B Ot o ® m3

Un® #1358 500A-6 S=1/10

125 500 125 60
o
(=2
©
KI|E IR - ]
:
N i

(=]
2
8 BEJLAI
] E— I ERBA
I 775757
=
|5o| 705 |50|
(10m&HtY)
% |3 BB % - C:3
el & |PU3-500A x 5.0
IhY-pE PC4-500 ® [17.8
JL—FU5E " 2.0
Un" #)3¥8500A-6 #® [10.0
BELAIL 1 3 m3 |0.14
X B B & |RC-40 m3 0. 81
1B i m3
8 = m?
K ¥ L m 2
B O+ o = m3




